Christmas

Puzzles

Each pair of words has a missing word Detweaan them
that acts as a fnk to both (e.g. FRONT — DOOR —
MAT). The initial letters of the Sk answers (reading
aowrwards) will spall out & tree.

STERLING @ —————- LINING
SALMON R GIN
TRUNK - RAGE
TURN = START
WEDDING ey WALK
DEAF b TRUMPET

Thera is just one simple rule in Sudcku. Each row and
each column must contain the numbers 1 10 8, and 50
must each 3 x 3 box. THiS is a logic puzzle, and you
should not Nave 10 guess.
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PATHWORDS

Starting from the central shaded letter, Mowve one latter at

a time (up, down, right or left, but not diagonally) to find
17 typical Christmas gifts.
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Spell out @ 15-letter word or phrase Dy moving from R A C N L A O S EK T
one chambar to another within the pyramid. You
May only anter each of the chambers onca and May E DW I © P I N EK O
only proceed throwgh openings in the walls. The first
letter may appear in any of the chambers. LRA I UTOWP NTE
LY S DR R I E A F R
EICKIETTTTT vumevoLcv Aus
What words link the following
definitions? famg 3 5|5 T FIE[}E
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1. asidse: ‘wnodiod laaeyesyE  eonude Bey] B 'S¥ED :i:::fi:;
2. a group of poopls; ‘usyol 40O JeIB|OD0yS i pEod ud UBMIE e TeTR e 8
3. asocial gatharing; IACES SpIn UGS HNMTONISSING s (v iefs/sef1]s]z
4. those involvad in Something. BOHOMH LYY YE1MMNO0S  w =(z)s ¢ 2]5|6]8




